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SE2AITR< 15| 31.4 10.2 0.3 41.9 kg 14.7 13.1 3.5/ 10.2 0.3 (Pib-ZEF]
AB(R-HOE-%) 5/ 10.8 3.4 0.1 14.3 kg 5.1 4.5/ 1.2 3.4 0.1 oo '52_:2?,L‘+3
VATA CAR) 3 12 4 0 16 P 5.6 5 1.3 4 0
ETEr ) 1.2l 2.5 0.8 0| 3.3 kg 1.2 Il 03 o8 0 OO 12:05 &+2
B (LEE) (L87) 3.5 4 1.3 0.1 5.4 X 1.9 1.7 0.4 1.3 0.1 [#EB2754] 6.1.19 OO/ 12:10 &+
AHYA 1.5 1.5/ 0.5 0 2 % 0.7 0.6 0.2 0.5 0/3.5&x%2% 190C ~ UETANS [ 506 44
2WBLESY 3.3 3.3 1.1 0 4.4 =* 1.5 1.4 0.4 1.1 0//v-%) 40g t 60g (90°CHAL)
37<¢ELEID 07 0.7 0.2 0 09 % 0.3 0.3 0.1 0.2  040g 708 (RZF) 5% (5~65) |OON 12:20
BAEL(ESEL) 20 o o 0 0 0 0/60g 508 (RzF) 5% (6~74) |oow 12:20
Lt 0.1 o.1 0 o 0. % 0 0 0 0 0|2mm10~30%  44EE  85CHE 2-2(B)+1 2-3(W) +1
[HMFBE%T751] (o] (o] (o] 0 0 0 (] 00% 12:45
%A 751409 40| 2110 0 25 2135 1@ 991 883 236 0 25 4 12:00
AR 751609 60 0o 5I10 o 510 M@ 0 0 0 5l0 0
B ) ) o & 0 0 0 0 0
[#ELAZH] o o 0 0 0 0 0
ARTFER I5 31.5 10.2| 0.3 42 kg  14.8 13.2| 3.5 10.2] 0.3
Y bbh o () 0.3 3 | 0 AR 1.4 1.3 0.3 I 0 <{D§':Eo]-30
rERE () I5 33.4 10.9 0.3 44.6 kg 157 14 3.7 10.9 0.3 @ 10:50
ADER(E) 3 7.4 23] 0. 9.8 kg 3.5 3.1 0.8 2.3 0.1 [#ELA&ZH] 5.7.13 ®@ 11:10
STHE 1.2 52 1.6 0.2 7 P 2.4 22| 0.6 1.6 0.2i0EF1/2 SERWER
B (R RE) (L) | 1.2 0.4 0 1.6 & 0.6/ 0.5 0.1 0.4 0 ERFRFIR  bHHKRELEL ls#{’cl
KBZ(FEE) 2 42 1.3 0 55 kg 2l 1.8 05 1.3 0L ER¥ & A0% EE(R) ?’;’l’ z e
£»z 8.2l 17.2 5.6 0.2 23 kg 8.1 7.2 1.9] 5.6 0.2/%@ % 1 & a1 RUEEH
K(BZLE) 15 o o ) 0 ) 0 0/ XI0A 1579 30~35%
HURH I 1.6 0.4 0 2 ko 0.8/ 0.7 0.2 0.4 0
A8 (HUA) I 1.6 0.4 0 2| kg 0.8| 0.7 0.2 0.4 0
K (L) 120 o o 0 0 0 0 0
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#¥588 U EB=AAY U EB=AAY euFE—]
L FE=AIERAK L FR=ATERAK %L
o 2,089] 510 26] 2625 Ab | BB | G B | @ | AR | bR | GEE | 3
Y EE %@ | 979 875 235 510 26 2,089] 510 26 2,625|[BErEbe0sTHt
M NE | | o | AR 979| 875 235 663 21 2,089 663 21 2,773 (KT H5RAA)
(£2124 ] 0 o 0 0 0 0 0 [KDRDHS7EY— 28]
K 70 0 o 0 0 0 0 0 3#3.55x2% 190C  |8R50%
AECREE) 7 0 o 0 0 0 0 0209 100~I30f 5~6%
(44 0 o 0 0 0 0 0 K52/ 55,55L A%, 2408
HRFIL(ERA) 206 0 o 0 0 0 0 0 XILIHBOT. AV EBTS
(KNRDHS13Y—ZhMF] o0 o 0 0 0 ) 0 9LfEY 259 4SEX0.8 30L< vk | [FiE-BEF]
AT RESS Is 0 o 30 30 M@ 0 0 0 0| 30 KAIK TYB5LLERT =8 OO 12:25
ATNAESIF209 20| 2110| 510 0 2620 @ @ 989 884 237 510 0 BY4 B RAH-FEBILEEETENT
Bih 0 0 0 & 0 0 0 0 0/LsS5 BE OO 12:05 &+4
fEnE (%) 8 17.8| 5.4 0.2| 23.4 ke 8.3 7.5 2| 5.4 0.2 4-1-1
ALK (B5L) 02 0.3 0. o 04 =% 0.1 0.1 o 0. 0 OO 12:10 &t 1
R (S0 08 1.7 05 0  2.2| ke 0.8 0.7 0.2 05 0
ABYA 0.8 0.8 0.2 0 1 & 0.4 03 0.1 0.2 0 OO 12:25
EE(ERE) (L) 2.5 2.9 1 o AR 14 1.2 03 1 0.1 OO 12:20 &t 1
2W<BLESD 1.6 1.6 05 o 21 =% 0.7 0.7 0.2 0.5 0
: 4 o o o1 13zl
(BEMEE00BTH] 0 o 0 0 0 0 0
X ERET Il 105 33 0.2 14 1@ 4.9 44 1.2 3.3 0.2 [BESEEv0HZH]  5.5.18 |OO% 12:45
¥ (%) 1.5 3.4 1.1 0 4.5 ke 16 1.4 04 1.1 0| @AFYY TaFRSIR H2mm 4 12:00
L A 0.3 2.5 05 0 3 & 1.2 I 0.3 05 0 POBKRLEY LOHLIEICSIS
BREAEE (%) 20 46.2) 14.6 0.4 61.2 kg | 21.7 19.4] 5.2 14.6] 0.4t @BUBIF &I Lo EO.5
f-3a¥ (%) 15 33.3 10.9| 0.3 44.5 kg | 15.6| 13.9 3.7 10.9] 0.3 5% @A #% bt & BE
LU (%) 3 7 22 0.1 9.3 ke 33 29 08 2.2 0.1 30% KI0A 1879
£z 8.5 17.8 5.6 0.2 23.6] kg 83 7.5 2 5.6 02
*Hz 2 42 1.3 0| 5.5 kg 2 1.8 0.5 1.3 0
HLEH 07 1.1 04 0 1.5 ke 05 05 0.1 04 0
EHoE 07 1.1 04 0 1.5 ke 0.5 0.5 0.1 0.4 0
B (RE) (L18) I 1.2 04 0 1.6 % 0.6 05 0.1 04 0
K(BZFLE) 15 o o 0 0 0 0 0 B
K (L) 120 o o o o o o o % :8;:8
[TEHA (FrRY)] o o 0 0 0o 0 0/ [TEHA (FvAY)] 5.5.18 ® 11:10
H0L(%) 30| 64.6 20.5 0.6 857 kg | 30.3 27.1 7.3 20.5 0.6 6%l KbSEAL AE R4
AB(R B %) 5 10.8 3.4 0.1 143 kg 5.1 4.5 1.2 3.4 0.1 AR FUY KL AW H4
FrRY (%) 100 24.3] 7.71 0.2 32.2 kg 1.4 10.2 2.7 7.7 0.2 v~V 5mm KL A& F4 (8F7x]
DT 0.8 1671 510 17 2198 g 783| 700 188 510 17 4204 469 ;\»guz L
WTE 1 1.2 0.4 (4] 1.6 & 0.6/ 0.5 0.l 0.4 0 81 RUEEH|
ZE(WY) 0.5 I 0 0 I ke 0.5 0.4 o.l 0 0
T2 (3Y) 05 1.5 0.4 0.l 2 ke 0.7 0.6 0.2 0.4 o0.I
nyTE 1.5 3 I 0 4 ke 14 1.3 03 I 0
2u<BLESW 2 2 07 o 27 =% 09 0.8 0.2 0.7 0
T e ) 120 07 0 2.8 ke Il 09 02 07 0
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